# ABEL'S LEMMA AND IDENTITIES ON HARMONIC NUMBERS 

Hai-Tao Jin ${ }^{1}$<br>School of Science, Tianjin University of Technology and Education, Tianjin, P. R. China<br>jinht1006@tute.edu.cn<br>Daniel K. Du ${ }^{2}$<br>Center for Applied Mathematics, Tianjin University, Tianjin, P. R. China<br>daniel@tju.edu.cn

Received: 11/24/14, Accepted: 5/3/15, Published: 5/8/15


#### Abstract

Recently, Chen, Hou and Jin used both Abel's lemma on summation by parts and Zeilberger's algorithm to generate recurrence relations for definite summations. They also proposed the Abel-Gosper method to evaluate some indefinite sums involving harmonic numbers. In this paper, we use the Abel-Gosper method to prove an identity involving the generalized harmonic numbers. Special cases of this result reduce to many famous identities. In addition, we use both Abel's lemma and the WZ method to verify and to discover identities involving harmonic numbers. Many interesting examples are also presented.


## 1. Introduction

The objective of this paper is to employ Abel's lemma on summation by parts and hypergeometric summation algorithms to verify and to discover identities on the harmonic as well as generalized harmonic numbers.

Recall that for a positive integer $n$ and an integer $r$, the generalized harmonic numbers of power $r$ are given by

$$
H_{n}^{(r)}=\sum_{k=1}^{n} \frac{1}{k^{r}} .
$$

For convenience, we set $H_{n}^{(r)}=0$ for $n \leq 0$. As usual, $H_{n}=H_{n}^{(1)}$ are the classical

[^0]harmonic numbers. We also define (see [6])
$$
H_{n}(x)=\sum_{k=1}^{n} \frac{1}{k+x}, \quad x \neq-1,-2, \ldots
$$
for $n \geq 1$ and $H_{n}(x)=0$ when $n \leq 0$. Identities involving these numbers have been extensively studied and applied in the literature, see, for example, $[5,6,12,16,20]$. Also recall that Abel's lemma [1] on summation by parts is stated as follows.

Lemma 1 (Abel's lemma). For two arbitrary sequences $\left\{a_{k}\right\}$ and $\left\{b_{k}\right\}$, we have

$$
\sum_{k=m}^{n-1}\left(a_{k+1}-a_{k}\right) b_{k}=\sum_{k=m}^{n-1} a_{k+1}\left(b_{k}-b_{k+1}\right)+a_{n} b_{n}-a_{m} b_{m}
$$

For a sequence $\left\{\tau_{k}\right\}$, define the forward difference operator $\Delta$ by $\Delta \tau_{k}=\tau_{k+1}-\tau_{k}$. Then Abel's lemma can be written as

$$
\begin{equation*}
\sum_{k=m}^{n-1} b_{k} \Delta a_{k}=-\sum_{k=m}^{n-1} a_{k+1} \Delta b_{k}+a_{n} b_{n}-a_{m} b_{m} \tag{1}
\end{equation*}
$$

Graham, Knuth and Patashnik [12] reformulated Abel's lemma in terms of finite calculus to evaluate several sums on harmonic numbers. Recently, Chen, Hou and Jin [4] proposed the Abel-Gosper method and derived some identities on harmonic numbers. The idea can be explained as follows. Let $f_{k}$ be a hypergeometric term, i.e., $f_{k+1} / f_{k}$ is a rational function of $k$. First, we use Gosper's algorithm [17] to find a hypergeometric term $a_{k}$ (if it exists) satisfying $\Delta a_{k}=f_{k}$. Then, by Abel's lemma, we have

$$
\begin{equation*}
\sum_{k=m}^{n-1} f_{k} H_{k}=\sum_{k=m}^{n-1} H_{k} \Delta a_{k}=-\sum_{k=m}^{n-1} \frac{a_{k+1}}{k+1}+a_{n} H_{n}-a_{m} H_{m} \tag{2}
\end{equation*}
$$

Hence we can transform a summation involving harmonic numbers into a hypergeometric summation. For example, let $S(n)=\sum_{k=1}^{n} H_{k}$, we have

$$
S(n)=\sum_{k=1}^{n} H_{k} \Delta k=-\sum_{k=1}^{n}(k+1) \Delta H_{k}+(n+1) H_{n+1}-H_{1}=(n+1) H_{n}-n .
$$

In this framework, they combine both Abel's lemma and Zeilberger's algorithm to find recurrence relations for definite summations involving non-hypergeometric terms. For example, they can prove the Paule-Schneider identity [16]

$$
\sum_{k=0}^{n}\left(1+3(n-2 k) H_{k}\right)\binom{n}{k}^{3}=(-1)^{n}
$$

and Calkin's identity [3]

$$
\sum_{k=0}^{n}\left(\sum_{j=0}^{k}\binom{n}{j}\right)^{3}=n 2^{3 n-1}+2^{3 n}-3 n 2^{n-2}\binom{2 n}{n}
$$

In this paper, we use the Abel-Gosper method to generalize the following wellknown inversion formula (see, for example [11, (1.46)])

$$
\begin{equation*}
\sum_{k}(-1)^{k-1}\binom{n}{k} H_{k}=\frac{1}{n} \tag{3}
\end{equation*}
$$

To be specific, we have
Theorem 1. Let $m, s, p, n \in \mathbb{N}$ and $n \geq p, m \geq 1$. Then

$$
\sum_{k=p}^{n}(-1)^{k-1}\binom{n}{k}\binom{k}{p} H_{m k+s}(x)= \begin{cases}\frac{(-1)^{p} m^{n-p-1} n!}{(n-p) p!} \sum_{i=1}^{m} \frac{1}{\Pi_{u=p}^{n-1}(m u+s+x+i)}, & n>p  \tag{4}\\ (-1)^{p-1} H_{m p+s}(x), & n=p\end{cases}
$$

It is readily seen that identity (4) reduces to inversion formula (3) by setting $p=0, m=1, s=0$ and $x=0$. More interesting special cases of (4) can be found in Section 2.

In addition, by combining Abel's lemma with the WZ method, we establish the Abel-WZ method to construct identities on harmonic numbers from known hypergeometric identities. For example, we shall reestablish the following identity due to Prodinger [15].

$$
\sum_{k=0}^{n}(-1)^{n-k}\binom{n}{k}\binom{n+k}{k} H_{k}^{(2)}=2 \sum_{k=1}^{n} \frac{(-1)^{k-1}}{k^{2}}
$$

The paper is organized as follows. In Section 2, we shall give a proof of Theorem 1 by the Abel-Gosper method. Special cases of Theorem 1 and more examples are also displayed. In Section 3, we introduce the Abel-WZ method and then construct many interesting identities on harmonic numbers from hypergeometric identities.

## 2. The Abel-Gosper Method

We first make use of the Abel-Gosper method to prove Theorem 1.
Proof of Theorem 1. Denote the left hand side of (4) by $S_{m, s, p}(n, x)$ and let

$$
F(n, k)=(-1)^{k-1}\binom{n}{k}\binom{k}{p}
$$

By Gosper's algorithm, we have

$$
F(n, k)=\Delta_{k} G(n, k)
$$

where

$$
G(n, k)=\frac{(-1)^{k}(k-p)}{n-p}\binom{n}{k}\binom{k}{p}
$$

Thus it follows that

$$
S_{m, s, p}(n, x)=\sum_{k} \Delta_{k} G(n, k) H_{m k+s}(x)
$$

Employing Abel's lemma and noticing the boundary values, we find

$$
S_{m, s, p}(n, x)=-\frac{1}{n-p} \sum_{k}(-1)^{k-1}(k+1-p)\binom{n}{k+1}\binom{k+1}{p} \sum_{i=1}^{m} \frac{1}{m k+s+i+x} .
$$

For $1 \leq i \leq m$, set

$$
S_{i}(n)=\sum_{k}(-1)^{k-1}(k+1-p)\binom{n}{k+1}\binom{k+1}{p} \frac{1}{m k+s+i+x}
$$

Then Zeilberger's algorithm (see [17]) returns the recurrence equation

$$
(m n+s+i+x) S_{i}(n+1)-m(n+1) S_{i}(n)=0
$$

By the initial value

$$
S_{i}(p+1)=\frac{(-1)^{p+1}(p+1)}{m p+s+i+x}
$$

we obtain

$$
S_{i}(n)=(-1)^{p+1} \frac{m^{n-p-1} n!}{p!\prod_{u=p}^{n-1}(m u+s+i+x)}
$$

Equation (1) is then established by noticing that

$$
S_{m, s, p}(n, x)=-\frac{1}{n-p} \sum_{i=1}^{m} S_{i}(n), \quad n>p
$$

and $S_{m, s, p}(p)=(-1)^{p-1} H_{m p+s}(x)$.
Now let us show some special cases of Theorem 1. By setting $m=1$ and $x=0$, (4) reduces to the following identity.

Corollary 1. For $n, p, s \in \mathbb{N}$ and $n>p$, we have

$$
\begin{equation*}
\sum_{k=p}^{n}(-1)^{k-1}\binom{n}{k}\binom{k}{p} H_{k+s}=\frac{(-1)^{p}\binom{p+s}{s}}{(n-p)\binom{n+s}{s}} \tag{5}
\end{equation*}
$$

The special cases $p=0$ and $s=0$ of (5) are given in [20, 21].
By setting $m=2, s=0$ and $x=0$ in (4), we are led to the following identity .
Corollary 2. For $n, p \in \mathbb{N}$ and $n>p$, we have

$$
\begin{equation*}
\sum_{k=p}^{n}(-1)^{k-1}\binom{n}{k}\binom{k}{p} H_{2 k}=\frac{(-1)^{p}}{(n-p)}\left(\frac{1}{2}+\frac{2^{2 n-2 p-2}\binom{2 p}{p}}{\binom{2 n-1}{n-1}}\right) \tag{6}
\end{equation*}
$$

Using the relation $k^{2}=2\binom{k}{2}+\binom{k}{1}$ and the cases $p=1,2$ of (6), we arrive at an identity due to Sofo [19]:

$$
\begin{equation*}
\sum_{k}(-1)^{k-1}\binom{n}{k} k^{2} H_{2 k}=\frac{n}{2(n-1)(n-2)}+\frac{2^{2 n-4}}{(n+2)\binom{2 n-1}{n-3}}, \quad n>2 \tag{7}
\end{equation*}
$$

Note that we can also derive identities involving the generalized harmonic numbers $H_{n}^{(r)}$ from Theorem 1. To this end, we need the operators L and D which are defined by L $f(x)=f(0)$ and $\mathrm{D} f(x)=f^{\prime}(x)$. It is easy to see that

$$
\mathrm{LD}^{m} H_{n}(x)=(-1)^{m} m!H_{n}^{(m+1)}
$$

By setting $m=1$ and $p=0$ in (4), we get the following result (see [13]).
Corollary 3. We have

$$
\begin{equation*}
\sum_{k=0}^{n}(-1)^{k-1}\binom{n}{k} H_{k+s}(x)=\frac{n!}{n(s+x+1)_{n}} \tag{8}
\end{equation*}
$$

Then applying the operator LD to both sides of (8), we obtain a formula given in [21]

$$
\begin{equation*}
\sum_{k=0}^{n}(-1)^{k-1}\binom{n}{k} H_{k+s}^{(2)}=-\frac{1}{n}\left(H_{s}-H_{n+s}\right)\binom{n+s}{s}^{-1} \tag{9}
\end{equation*}
$$

Furthermore, applying the operator $\mathrm{LD}^{2}$ to both its sides of (8) gives

$$
\sum_{k=0}^{n}(-1)^{k-1}\binom{n}{k} H_{k+s}^{(3)}=\frac{1}{2 n}\left(\left(H_{n+s}-H_{s}\right)^{2}+H_{n+s}^{(2)}-H_{s}^{(2)}\right)\binom{n+s}{s}^{-1}
$$

More generally, (8) leads to the following inversion formula by applying the operator $\mathrm{LD}^{m}$ to both its sides.

Proposition 1. For positive integers $n$ and $m$, we have

$$
\begin{equation*}
\sum_{k=1}^{n}(-1)^{k-1}\binom{n}{k} H_{k}^{(m+1)}=\frac{1}{n} \sum_{1 \leq j_{1} \leq j_{2} \leq \cdots \leq j_{m} \leq n} \frac{1}{j_{1} j_{2} \cdots j_{m}} \tag{10}
\end{equation*}
$$

Proof. Setting $s=0$ in (8) and applying the operator $\mathrm{LD}^{m}$ to its both sides, we have

$$
(-1)^{m} m!\sum_{k}(-1)^{k-1}\binom{n}{k} H_{k}^{(m+1)}=\frac{n!}{n} L D^{m} \frac{1}{(x+1)_{n}}
$$

By the partial fraction decomposition

$$
\frac{1}{(x+1)_{n}}=\sum_{k=1}^{n} \frac{1}{(x+k) \prod_{1 \leq j \neq k \leq n}(j-k)},
$$

we find

$$
\frac{n!}{n} \mathrm{LD}^{m} \frac{1}{(x+1)_{n}}=(-1)^{m} m!\frac{1}{n} \sum_{k=1}^{n}\binom{n}{k} \frac{(-1)^{k-1}}{k^{m}}
$$

Finally, using Dilcher's formula [10]

$$
\sum_{k=1}^{n}\binom{n}{k} \frac{(-1)^{k-1}}{k^{m}}=\sum_{1 \leq j_{1} \leq j_{2} \leq \cdots \leq j_{m} \leq n} \frac{1}{j_{1} j_{2} \cdots j_{m}}
$$

we arrive at (10).
Similarly, we can use the Abel-Gosper method to find many other identities. Here are some examples.

Example 1. For $n \in \mathbb{N}$ and $x \in \mathbb{C} \backslash\{-1,-2, \ldots\}$, we have
$\sum_{k=0}^{n} \frac{(x+1)_{k}}{k!} H_{k}=\frac{1}{x+1}\left(1+\frac{(x+1)_{n+1}}{n!}\left(H_{n}-\frac{1}{x+1}\right)\right)$,
$\sum_{k=0}^{n} \frac{k!}{(x+1)_{k}} H_{k}= \begin{cases}\frac{1}{(x-1)^{2}}\left(x-\frac{n!}{(x+1)_{n}}\left((x-1)(n+1) H_{n}+n+x\right)\right), & \text { if } x \neq 1, \\ \frac{H_{n+1}^{2}-H_{n+1}^{(2)}}{2}, & \text { if } x=1 .\end{cases}$
We remark that the second identity also holds when $x$ is a negative integer. In this case, it is equivalent to the following formula (see [12, Exercise 6.53]).

$$
\sum_{k=0}^{n} \frac{(-1)^{k}}{\binom{m}{k}} H_{k}=\frac{(-1)^{n}}{\binom{m}{n}}\left[\frac{n+1}{m+2} H_{n}+\frac{m+1-n}{(m+2)^{2}}\right]-\frac{m+1}{(m+2)^{2}}
$$

where $m, n \in \mathbb{N}$ and $n \leq m$.

Example 2. For $n, m, p \in \mathbb{N}$, we have the following three identities.

$$
\begin{aligned}
& \sum_{k=0}^{n}(-1)^{k-1} \frac{\binom{n}{k}}{\binom{k+p}{p}} H_{k+p}=\frac{n-p(n+p) H_{p}}{(n+p)^{2}} \\
& \sum_{k=0}^{n}(-1)^{k-1} \frac{k\binom{n}{k}}{\binom{k+p}{p}} H_{k}=\frac{p n\left(1+H_{p-1}-H_{n+p-2}\right)}{(n+p)(n+p-1)}, \quad p \geq 2, \\
& \sum_{k=0}^{n}(-1)^{k-1} \frac{k^{2}\binom{n}{k}}{\binom{k+p}{p}} H_{k}=\frac{p n\left((n-p)\left(H_{n+p-3}-H_{p-1}\right)-(2 n-p)\right)}{(n+p)(n+p-1)(n+p-2)}, \quad p \geq 3 .
\end{aligned}
$$

We remark that the first formula is due to Sofo [18] and the remaining two were obtained by Chu [7].

Using the Abel-Gosper method iteratively, we can prove the following identity.
Example 3. For $n, p \in \mathbb{N}$ and $n>p$, we have

$$
\sum_{k}(-1)^{k-1}\binom{n}{k}\binom{k}{p} H_{k}^{2}=\frac{(-1)^{p}}{n-p}\left(H_{n}-2 H_{n-p-1}+H_{p}\right)
$$

## 3. The Abel-WZ Method

In this section, we shall illustrate how to combine Abel's lemma with the WZ method to derive identities on harmonic numbers.

Recall that a pair of hypergeometric functions $(F(n, k), G(n, k))$ is called a WZ pair if the following WZ equation holds

$$
F(n+1, k)-F(n, k)=G(n, k+1)-G(n, k)
$$

For a given $F(n, k)$, the WZ method will give such $G(n, k)$ if it exists: see for example [17]. Now we are ready to describe the Abel-WZ method. In most cases, for a hypergeometric identity

$$
\sum_{k} F(n, k)=f(n)
$$

we can obtain a corresponding WZ pair

$$
\left(\frac{F(n, k)}{f(n)}, G(n, k)\right) .
$$

Let $S(n)=\sum_{k \geq 0} F(n, k) b_{k}$, where $b_{k}$ is a harmonic number. Then we have

$$
\frac{S(n+1)}{f(n+1)}-\frac{S(n)}{f(n)}=\sum_{k}(G(n, k+1)-G(n, k)) b_{k}
$$

Denote by $U(n)=\sum_{k}(G(n, k+1)-G(n, k)) b_{k}$. Then by Abel's lemma, we have (here we omit the boundary values)

$$
U(n)=-\sum_{k} G(n, k+1) \Delta_{k} b_{k}
$$

Again, if $\Delta_{k} b_{k}$ is hypergeometric, $U(n)$ can be treated by Zeilberger's algorithm. Moreover, if $U(n)$ can be expressed in closed form, we then establish an identity of the form

$$
S(n)=f(n) \sum_{k \leq n-1} U(k)
$$

We begin by an identity due to Prodinger [15].
Example 4. For $n \in \mathbb{N}$, we have

$$
\begin{equation*}
\sum_{k=0}^{n}(-1)^{n-k}\binom{n}{k}\binom{n+k}{k} H_{k}^{(2)}=2 \sum_{k=1}^{n} \frac{(-1)^{k-1}}{k^{2}} \tag{11}
\end{equation*}
$$

Proof. Denote the left side of (11) by $S(n)$. For $F(n, k)=(-1)^{n-k}\binom{n}{k}\binom{n+k}{k}$, the WZ method gives

$$
F(n+1, k)-F(n, k)=G(n, k+1)-G(n, k),
$$

where

$$
G(n, k)=\frac{2(-1)^{n-k} k^{2}\binom{n}{k}\binom{n+k}{k}}{(n-k+1)(n+1)}
$$

Multiplying both sides of the WZ equation by $H_{k}^{(2)}$ and summing over $k$ gives

$$
S(n+1)-S(n)=\sum_{k}(G(n, k+1)-G(n, k)) H_{k}^{(2)}
$$

Then applying Abel's lemma to the right hand side of the above identity and noting the boundary values, we have

$$
\begin{aligned}
S(n+1)-S(n) & =\sum_{k} \frac{-G(n, k+1)}{(k+1)^{2}} \\
& =\sum_{k \geq 0}(T(k+1)-T(k)) \\
& =2 \frac{(-1)^{n}}{(n+1)^{2}}
\end{aligned}
$$

where

$$
T(k)=\frac{2(-1)^{n-k-1}(k+1)^{2}\binom{n}{k+1}\binom{n+k+1}{k+1}}{(n-k)(n+1)^{3}}
$$

Thus we have

$$
S(n)=S(0)+2 \sum_{k=1}^{n} \frac{(-1)^{k-1}}{k^{2}}
$$

By the initial value $S(0)=0$, we complete the proof.
The underlying hypergeometric identity of the above theorem is the special case $p=0$ of

$$
\sum_{k=0}^{n}(-1)^{k}\binom{n}{k}\binom{n+k}{k}\binom{k}{p}=(-1)^{n}\binom{n+p}{p}\binom{n}{p}
$$

which enables us to establish the following identities.
Example 5. For $n, p \in \mathbb{N}$ and $n \geq p$, we have

$$
\begin{aligned}
\sum_{k=0}^{n}(-1)^{n-k}\binom{n}{k}\binom{n+k}{k} H_{2 k} & =3 H_{n}-H_{\left\lfloor\frac{n}{2}\right\rfloor}, \\
\sum_{k=0}^{n}(-1)^{k}\binom{n}{k}\binom{n+k}{k}\binom{k}{p} H_{k} & =(-1)^{n}\binom{n+p}{p}\binom{n}{p}\left(2 H_{n}-H_{p}\right), \\
\sum_{k=0}^{n}(-1)^{k}\binom{n}{k}\binom{n+k}{k}\binom{k}{p} H_{n+k} & =(-1)^{n}\binom{n+p}{p}\binom{n}{p}\left(H_{n+p}+H_{n}-H_{p}\right) .
\end{aligned}
$$

The cases $p=0,1$ of the last two formulas can be found in [15] and [14] respectively.
We conclude this paper by giving the following examples.
Example 6. From the binomial theorem $\sum_{k}\binom{n}{k} \lambda^{n-k} \mu^{k}=(\lambda+\mu)^{n}$, we can derive the following formula due to Boyadzhiev [2].

$$
\sum_{k=1}^{n}\binom{n}{k} H_{k} \lambda^{n-k} \mu^{k}=(\lambda+\mu)^{n} H_{n}-\left(\lambda(\lambda+\mu)^{n-1}+\frac{\lambda^{2}}{2}(\lambda+\mu)^{n-2}+\cdots+\frac{\lambda^{n}}{n}\right)
$$

Example 7. From identity

$$
\sum_{k=p}^{n}\binom{n}{k}^{2}\binom{k}{p}=\binom{2 n-p}{n}\binom{n}{p}
$$

we can derive

$$
\sum_{k=p}^{n}\binom{n}{k}^{2}\binom{k}{p} H_{k}=\binom{2 n-p}{n}\binom{n}{p}\left(2 H_{n}-H_{2 n-p}\right)
$$

The special cases $p=0$ and $p=1$ are due to Paule and Schneider [16].

Example 8. From the identities

$$
\sum_{k=0}^{2 n}(-1)^{k}\binom{2 n}{k}^{2}=(-1)^{n}\binom{2 n}{n}
$$

and

$$
\sum_{k=0}^{2 n}(-1)^{k}\binom{2 n}{k}^{3}=(-1)^{n} \frac{(3 n)!}{n!^{3}}
$$

we have

$$
\begin{aligned}
\sum_{k=0}^{2 n}(-1)^{k}\binom{2 n}{k}^{2} H_{k} & =(-1)^{n}\binom{2 n}{n} \frac{H_{n}+H_{2 n}}{2} \\
\sum_{k=0}^{2 n}(-1)^{k}\binom{2 n}{k}^{3} H_{k} & =(-1)^{n} \frac{(3 n)!}{n!^{3}} \frac{H_{n}+2 H_{2 n}-H_{3 n}}{2} \\
\sum_{k=0}^{2 n}(-1)^{k}\binom{2 n}{k}^{3} H_{k}^{(2)} & =(-1)^{n} \frac{(3 n)!}{n!^{3}} \frac{H_{n}^{(2)}+H_{2 n}^{(2)}}{2}
\end{aligned}
$$

The last two formulas can be found in [9] and [8] respectively.

Acknowledgments. We wish to thank the referee for helpful suggestions. We are grateful to Professor Qing-Hu Hou for helpful suggestions and discussions.

## References

[1] N.H. Abel, Untersuchungen über die Reihe $1+\frac{m}{1} x+\frac{m(m-1)}{1 \cdot 2} x^{2}+\cdots$, J. Reine Angew. Math., 1 (1826), 311-339.
[2] K.N. Boyadzhiev, Harmonic number identities via Euler's transform, J. Integer Sequences, 12 (2009), Article 09.6.1.
[3] N.J. Calkin, A curious binomial identity, Discrete Math., 131 (1994), 335-337.
[4] W.Y.C. Chen, Q.-H. Hou, and H.T. Jin, The Abel-Zeilberger algorithm, Electron. J. Comb., 18 (2011), \#P17.
[5] J. Choi and H.M. Srivastava, Some summation formulas involving harmonic numbers and generalized harmonic numbers, Math. Comput. Model., 54 (2011), 2220-2234.
[6] W. Chu and L. De Donno, Hypergeometric series and harmonic number identities, Adv. in Appl. Math., 34 (2005), 123-137.
[7] W. Chu, Summation formulae involving harmonic numbers, Filomat, 26 (2012), 143-152.
[8] W. Chu and A.M. Fu, Dougall-Dixon formula and harmonic number identities, Ramanujan J., 18 (2009), 11-31.
[9] K. Driver, H. Prodinger, C. Schneider, and A. Weideman, Padé approximations to the logarithm III: alternative methods and additional results, Ramanujan J., 12(3) (2006), 299-314.
[10] K. Dilcher, Some $q$-series identities related to divisor factors, Discrete Math., 145 (1995), 83-93.
[11] H.W. Gould, Combinatorial Identities, A standardized set of tables listing 500 binomial coefficient summations, Morgantown, W. Va., 1972.
[12] R.L. Graham, D.E. Knuth, and O. Patashnik, Concrete Mathematics: A Foundation for Computer Science, Addison-Wesley Publishing Company, Amsterdam, 2nd Ed., 1994.
[13] P.G. Larcombe, M.E. Larseen, and E.J. Fennessey, On two classes of identities involving harmonic numbers, Utilatas Math., 67 (2005), 65-80.
[14] R. Osburn and C. Schneider, Gaussian hypergeometric series and supercongruences, Math. Comp., 78 (2009), 275-292.
[15] H. Prodinger, Human proofs of identities by Osburn and Schneider, Integers, 8 (2008), \#A10.
[16] P. Paule and C. Schneider, Computer proofs of a new family of harmonic number identities, Adv. in Appl. Math., 31 (2003), 359-378.
[17] M. Petkovšek, H.S. Wilf, and D. Zeilberger, A=B, A.K. Peters, Wellesley, M.A., 1996.
[18] A. Sofo, Some more identities involving rational sums, Appl. Anal. Discr. Math., 2 (2008), 56-66.
[19] A. Sofo, Integral forms of sums associated with harmonic numbers, Appl. Math. Comput., 207 (2009), 365-372.
[20] J. Spieß, Some identities involving harmonic numbers, Math. Comput., 55 (192) (1990), 839-863.
[21] W.P. Wang, Riordan arrays and harmonic number identities, Comput. Math. Appl., 60 (2010), 1494-1509.


[^0]:    ${ }^{1}$ The research of the first author was supported by the National Science Foundation of China (Tianyuan Fund for Mathematics, No.11426166) and the Project Sponsored by the Scientific Research Foundation of Tianjin University of Technology and Education.
    ${ }^{2}$ The corresponding author.

